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Case study #1 productivity and work study.

1- Prepare a case study in the Egyptian industry to improve the productivity by using Method study, work measurement and productivity modules techniques to simplify the jobs and determine standard times for its operations in this case study.
2- Applications:

 Every grope selected two Applications from the following:  
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Cases study #2   Production Operations and Production Planning.

1- Make a case study on how to use Mathematical models of production activity to make the production planning and calculate the operation time and production rate for case study. And propose suitable organizational relation for this case study.

1- Applications:
 Every grope selected two Applications from the following

Case 2.1
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Case2
1. Proof that
‘The sum of partial productivitiesis not equal to total productivity.
Iep; # TR
i
2- Define: a- Four Objectives of work measurement
‘b- Three types of time study equipment
- Three types of recording techniques which are used in recording the facts
through the method study.
3-Explain: The basic procedure of themethod study

4- Draw a man machine chart showing one man [ e (&) e

(the operator) operating three machines. The T12 13

cycle consists of as shown in table: Each |Lodiame 025 075 | 05

‘machine completes the machining operation and | Mekmmgtme [ 125 15 | 125
" " Madmesops | 05 | 025 [ 0.5

Stops automatically. The operator starting the | e o wiae

machines in the moming with all machines | endofan

empty, and continues until Machines 13
completes three cycles and Machine 2completes two cycles
Determine:

a- The Idle and working time, also,
- utilization ratio for man and Mee.

5-Define:

a2 Maritrating
b- Four Objectives of maritrating

- Wage incentive plans 5 only rating) and Explain one of them
d- Job analysisprocedure

- Methods and technique ofjob evaluation

Fage: 2014 | Words: 1257 | 5

English (United States)





image4.png
i)

Home

Inset  Pagelajout  References  Mailings  Review

% ——— N
ﬂ Gy |[fmesNewkoman -1z~ [i&1aE AaBbCel | AaBbCcl AaBbCi 2 Repiace
rte (B2 U k@A = Thomal | 1NoSpaci.. Heading1 - Change | [T
Ciipboard Font 5 Paragraph 5 stytes 5| edting
] E R O T A R KN N KRN CX RN S AN KNI ENRE TR KT MDA {0 I
d- Job analysis procedure.

- Methods and technique ofjob evaluation

6- As shown in figure (1), a manufacturing cell contains
2automatic uming machines, is assigned to manufacture all
the heavy cylindrical parts. One skilled operator is responsible
for the total amount of work in this cell. Assume the
operationto completes the product and determine the standard
time for ach clement and standard time for operation

£

PartName | _Part Code

- “Standard Speeds
Heasy Shaft 0314 e

. 45,71, 90, 125,
StockSize | 630%0 350 150, 239,555, 300

Rough (50),
Finish (100)

Feed

Depth ofcur

0.8 mmre

S mmeur

0.4 mmres

2 mmeur
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Case3

1- A product of steel 70 below sketched to be | [ 19| Jemw oy
manufactured on tuming machine. The faces are
not to be manufactured. The stock dimension is
510 © x 775 mm?. In the product operations the
following observations were made, the standard
speed for tuming gear box are: 45 - 71-90 - 125
- 180 - 250 - 355 - 500 rpm, and the other data
shown in the following table

PartName | _PaCode Madhining

‘Standad Spests | Cuting Velooy | Observed | Allowance
Product o (pm) (mmm) | Rating

Sumnot
increase
100%

45,71,90,125, | Rough(50),

7750310 180,250,335.500 | Fmish (i00)

Description Feed Depth of cut A%

Rough nming 08 mmer S et

Fine uming 04 mer Jmment

2- a-Proofthat: The sum of partial productivities is not equal to total productivity
N

PR £ TR
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b Datagathered in the table below shows the detailed Inputs and Outputs for assembling

two products (P1, P2) during the last quarter of 2015 in an Egyptian firm.

Value of | Value of
Item Description = =
Assembled | Quariity Produced (Uni) 7000 300
Units Prce (LE/Uni) %0 %00
Outputs [, Quanity n process(Uri) 150 700
Price (LE/UnI) 350 380
AssembledUnies | b cent Completion (6] 50 )
Divigenasfrom | Money Value (LE) 500 50
Securities Deflator 11 12
o Total Hours Worked (Fis) 0 300
uman Average Wage Rate (LE/HT) 65 15
Tons of Packing Materals (Tor) | 0.25 05
“Tone Price (LE/Ton) 2000 7800
Material (';)‘a’f":“d Sub-Assemblies 10000 9800
Inputs
“Average Sub-Assembles Fiice
herage 25 25
Total Money Value (LE] 700000 | 0000
Capttal Deffator 0 10z
Energy Elecricity used(LE) 7200 1000
Other Expanses | (LE) 3000 250
Determine:

@ Partial productivity index all products with respect to all input factors. If consider
product P2 base and P1 others are current.
b- By using the last data Proof that Total productivity of product  in forms of the partial
productivities
N
TPF= I Wy xPP;
1

S Engish (unted state) Show deskop
-

03026





image7.png
Home | Inset  Pagelayout  References

i Times New Roman trea - |12~ (A7 &7][55)] V(9] | aaBbcer | asBbce AaBbCH i;:.
P (B2 L Ao A] =2 e shoma | oo Spac.. Heaamg1 - Change M!M,‘
Clipboard Font ] Paragraph = Styles o Editing.

c- Thetotal productivity index in this quarter

3- Draw 2 man machine chart showing one man (the operator)
operating two machines. The cycle consists of as shown in table:
Each machine completes the machining operation and stops
automatically. The operator starting the machines in the morning
with machine 1 is empty but machine 2 empty after .5 min.to start,
and continues unil each machine completes three cycles.
2. Draw a man machine chart for this data.
b. Determine

1. The Idie and working time for cach machine.

2. Utilization ratio for man and M.

4-job Evaluation and Merit Rating.

Perparc case study for samle company and determine main elements of job
evaluation to compare the demands the normal performance of particularjob, make
systematic evaluation of an cmployee's per formance on the job (merit rating) and
explian wage incentive plans.

T a0
Localtime #1321 0258 5
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2) A small company produces 4 products. An order s received to deliver
1,000 units of the four products. given the following data:

Sep e pe | Opion
Non operaion
B | ) ¢ oper

size e [ e oo

100 205 1
200 —1 2
500 1= 3
200 11 1

Determine
1) Plantutilization.
b) The number of days required to deliver the order if the plant works

5 days aweek, and 8 hours a day.
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Casel
1) Define:
a. Partnership
b. Responsibility

c. ConnectionLines

1) In anoperation on an engine lathe,*
the operator performs a series of cut
cuts as given in the table. The
delay time is related to handling,
setting, and positioning the tools
for each of the cuts. The setup
time for the operation is 0
negligible. The work piece o5
handling time is 3.0 min/piece. o5
Find the operation time and
production rate for this part.

Machining
time (min)

Taceend 05
25
5
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3)  Apartis routed through six operations in a batch production shop the setup times
and operations times are given in the table. If the batch size is 100 parts and the
average non-operation time associated with each operation is 12 hours, compute the

i total through put time for the part
B Operation | Setup time (Hrs) | Operation time (Min)
B T 7 3
M 2 2 35

3 g 0

7 3 5

3 3 i1

[ 7 23

4)  Aprocess X has fixed costs of LE 20,000 per year, and variable costs of L E 12
‘perunit, whereas process Y has fixed costs of L.E 8,000 per year, and variable costs
of L.E 22 per unit. At what production quantity “Q” are the total costs of X and Y are
equal?

5) Writeshort notes on the following:

a. The advantages and disadvantages of:

i The line organization,
i, The line and staff organization
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1- Writeshort notes on the following:

1. The types of production and the requirements of cach.
2. Different types of business organizations

2-The setup time for one particular operation during the process routing in a workshop is
3.0 h. The actual machining time is 2.5 min, work part handling is 3.0 min, and tool-
‘handling time is 30 sec. How nuch will the production rate be increased by increasing
the batch size from 50 to 100 parts?
3-Annual fixed costs at a small textile shop are LE. 46,000, and variable costs are
estimated at 50% of the 40 LE/umit selling price. Find the break-even point
(quantity).What profit (or loss) would result from a volume of 3,000 units

4-The annual gross revenue ‘R’ from the manufacture of a certain product is $700,000,
the manufacturing costs are 60% of the annual gross revemue and the fixed cost
per yearis $160,000.
Plot with a suitable scale the break-even graph, and determine the annual profit
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B 1- A product of sted 50 below sketched to be manufactured on | = | | W M
N (CNC machine. The facesare not to be manufactured. Therough | 3 |# [|" 1§ [% [ 31 "]
dimensionis 450 mm diameter and 700 mm length. In the product | i
- operations the following observations were made, U
- the standard speed for tuming gear box are: 45 - 71-90 - 125 - 700
N 180 - 250 - 355 - 500 -710 — 1000 rpm
Opera Elements Speed | Feed(s) | Do [ Observed [ Aigwance
- : D xL man | mmi | g [ %
B T | Roughtuming o 440 x 700 | — | 200 | 08 5 03 10
B 2 | Roughtuming 0 400 x 290 | —— | 200 | 08 5 110 10
N 3 |Fme tumingo 350 x 190 | — | 250 02 3 50 2
- 7| Fine wmingo 300 x 100 | — | 250 | 02 3 % 2
B 5 | Roughtuming o 405 x 310 | —— | 200 | 08 5 105 5
B § | Fine wmingo 400 x 310 | — | 250 | 02 7 %0 21
: 7| Roughtuming 0 300x 160 | —— | 200 | 08 5 Bl 11
- 5 | Fine wmingo 250x 160 | — | 250 | 02 2 100 5

B Tm=2 ¢ L+ (1020) BI=Tmx R ST=BTx 2
P 04

B V=222 min Dm = 2% i (No.ofeuts) = 2222

. 1000 2 2a
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= Tems Descripion | Prod. | Prod | Prod.
- #1 # #3
= 2- The data given the detsiledlnpur || o | Fotited L poguestcomy | 2700 | 200 | 2000
E and Output forthree productstoa || § Tpiermits | n | s | s
B firm that manufactures three H
! R
B ‘products in the last quarter of T [ 200 [ 300 [ 1000
2010, Produced | “Price /it S IO [ 10| 10
H ) e | -Perentcomplesonts [0
B Determine: -
. P Humay | 102 Bouss worked 510 390 550
B a) Partial productivity index all e | g wagere/ | 59 | 59| Y
B ‘products with respectto all input b )
B factors. If consider product 2 e BT ET R
B base and othersare current e | T pos SROEY L e [
H b) Total productivity of a fimas a B9t | pice pant(5Pa) | 15 | 20 | 150
B function of total productvities of o [ mE T T
B indivi | cai st
B individual products g G| Eee || |
= ES working cost
B = Galloms of ol O B
2 Price g s | 115 | 1o
b Tous ofccdl. FRN N
B “Eogy | Vpre ton 70 | 5530 | 550
i B | g hofdecricty | 650 | 1500 | 1000
B price kwh 055 | 055 | 050
- O | = Consilimg | 39500 | 9530 | 650
= Marketing expense.
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